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Geometry Unit 1 Test Review

Unit 1 Test Review

1) If DM = 35, what is the value of r?

(+543r-wy -3 8

Dr+5 = 3r—14 . L’ff;q”] j—gqg
145 + 3311 He=41
1

16 +33-1
2133= 35
Use the following diagram to answer Q2 and 3.
Points P, Q and S are collinear. (sare iine)

2) What is m<PQR? W= _’ﬁi/
gy
bext2= &
~ X= Y¢
dx =4 =(6°
14y Y

3096)-6 =139-¢ =122°- % PaR.

3) If@? bisects <RQS , what will be the measure of one of the resulting angles?

Y12 <4Q/2 = 29"

4) Points L, M, and N, are collinear. You are given LM = 18 and LN = 27. )N;P{at is a possible value of MN?
l

: : : °X’ maaq

2 A N -9

5) BD bisects <ABC so that m&DBC = (x + 8)°and m«ABD = (2x — 15)°. What is the value of x?

A
D Qx=lf=xt9

-x  7X
¥~ =%

& / 4 ¢
8 C tis @
6) What is the length of FG if F(2,11) and G (5,16)? Round to the nearest whole number.

[5-2)"+ 0~y

VL2 | 39 s
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Geometry Unit 1 Test Review
For Q7 and 8 use the following number line.

G H I J K L MNDO
e bt—t—d—t— 1 | | | l L
s 1 1 1 1 v 9 7' v T i
4 3 2 L .0 I 2 3 4 § €

7) Whatis KM + IK ?

1

8) What is the coordinate of the midpoint of GK?

e 2

—_

For Q9-11 use the following conditional:
If a number is positive, then it is a whole number and an integer.

9) What is the conclusion of the conditional?

Ahe nomber [§ whole + an (€L

10) What is the hypothesis of the conditional?
LavmpN 'O Pogitive

11) State a counterexample for the conditional.

72

the length of AB if A(—3,4) and B(4,4)
[ 142y 40y -7)
\}ﬁ%—z) m 2@

13) Is the converse of the conditional below true?
If a polygon is a triangle, then it has exactly three sides.

If a polygon has exactly three sides, then jt is a triangle,
A%

14) Make a conclusion: If a person wants to get a car, that person must buy car insurance. Jayla wants to get a car....

then Jaylo, weetS+0 huy cal” ingvrance.
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Use the diagram below for Q15 and 16

15) The statement <2 = x4 is justified by the Ver+ @l Ctﬂg-/& theorem

16) If m«1 = 4x + 2 and the m«2 = 110, what is the value of x?

Yx4241¢ =1g0

Y4112 =1€0
-2 =12

%268 xz 17
15

17) o a) f mxADB = 2x + 5 and m«CDA = 3x, find the value of x.
A B DB L CE
2x5+3% 2 90
3 R Ox+5 =10
C D 'E -5 -5
' 5x=8Y b= |F
VY
b) If mkFDC = 4x — 20 and mXEDA = 3x + 12, find m<ADC
Wo =29 =5x413
=32
Y32 ) <0 o
my APC 2750
18) Find the midpoint and the length of RS if Ris (3, 8) and Sis (-1, -14)
mp= 34 Skiy q=\ G074 (5 +e)%
2 J ___
‘ d =\ g%1==7

V’lp= C’J“Bj

A=\ etra
Uz:\/go de 70\/—}

20) M is the midpoint of P_Q Find the coordinates of Pif Qs (-4, -6) and M is (1, -3).

\//\/\

4 ,0) -5 (4,3 (H "
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21) Find the value of x so that TR is the bisector of AP and find the length of AP.

R® o) - =8x+2
A g 10x-4 8x + 2 oP 1 i
S
[o(3)-4 )
2L Te X = gx+6
__gx _gf
AP Z2026) %i{’
AP=T2 x?lv}
22) Point Yison XZ, XY = 5x + 2 and YZ = 8x - 5 and XZ = 166.
T
(a) Find the value of x. e e ;
X Y Z
Tx+2 18x-F < (66
13X -3=16
X3 13
(3x=149

Xc)g

(b) Is Y the midpoint of Xz ? Justify (explain and show work) your answer.

(x) TC1 3267 8C13) -5 - 19 (¥2)

yi} not dhe midpoint of Xz b/ Xy =72

23) a) Plot the points A(-2, -2) B(2, -2) and C(4, 4) and connect to make AABC.
13) Find the length of each side of the triangle
¢) Show that AABC is not a right triangle. (Use the Pythagorean theorem!)

1 b - US@ o Stan@
b=
U 472—}\/;92:'\[_?\2
: / 56 £ 72
X’Z:: / B /
7 L w0t g rigmd +f‘[0néz/€
A 1 ‘/Q
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v

FROM TEXTBOOK: pg 64-67 skip questions 1-8, 14, skip lesson 1-2, 26, 39, 40, and 43



